o]“].u(};d/\] 2
dA ax? +bx+c=0° o

® a<0, c<0o]H 3

® a>0, c<0oH

(SRS
ol
Ho
o
rJ
IS

10
1T C]—PZO]E}-

;0.._
mJ

ot

B

o] p+qi ©l

mA

o

@ 274 @ 374 @ 47 ® 570
7

@ 174



2. xof gt oA FA x2 - 2(m+a-1)x+m? +a®>-2b=0°] m9]
gholl #AQlO]l T2& A=t a+ b9 427

@ @1 ©)

DN | =
w |



=

3. OlAAHA ax? +4x-2=0°] A2 TE FAZS 7HE 0, A
Zrol Hel=?
@ a>-2 @ -2<a<0,a>0

® -2<a<0 @ a>2

® a<0,0<a<?2



<

e]

X

Y

o

]

32g 2

O|ZF YA x? — x(kx —7) +3 = 0°]

s

4.

29

® 2

@ 5



xofl it o] APFH A ax? + bx + ¢ = 0°] A2 T2 F AZLE 713
o, o [B7]] 9] o] AP A A T A2 o2 F ALE 2= A2 BF
1E AL?

@ ax®*+2bx+c=0 @aszr%berc:O

© cx®+bx+a=0

ONQ) ® 0,0 ® 9,0
ONGNG) ® 0,0,06



Ao x24+5x-2k =0

S| AP A] 222 — dx—3k = 09] 5]

6.

Al

—
ife)

ol

@ 274 ® 374 @ 47Y ® 574

@ 14



7. A7E AR xoll It oA ¥ +2(a—m—1)x+a*~b+m* =0
of ol m 9| Fholl YAl ¥ T2 A== Stea, b3S 27

® -2 @ -1 @0 @1 ® 2



8. O1ZHA] ¥ — 2(k — 1)x + 2k% — 6k + 47} xol] thste] PAAFA o] 2
o], = ko 4] eh= F-stofet

D S
=%



9.

OJAFA] x2 —xy—2y? —ax—-3y—-19°] x, y °ll

A5He He B

D1

@

h s
t%‘l‘

| W

a 9 k9] Fe?

® 2

@

5t

o

N | Ot

i



PEAA 2 +ax+b =09 F 2] 2,3

12

o

10.

© o

<t o

™ o

N0

— o



11, oA 2 +3x-2= 09 £ 22 o, gt T 1), ot + 419 G2
Fotofet.

D
=%



12.

oA AHA 26 —10x + 6 = 0] F

Fotofet.

D
=%

[e]
4= a,

Bzt &



13. 2x24+4x-1=09 F 22 .t & 1], o?8 + ap% 2 727

® -2 @ -1 @0 @1 ® 2



shelat.

:[L

O] f  14kr + 96k = 09] T 2] 1|7} 3+ 49 0], P4 k]
O
=

s

14.

.

ul



15. x*-2kx+1=08 NS a, gt W, o+ 83 =271 HEF Sl=k
o] gr=29] eh& FotdA?

® 1 @—% ® - @

N | =
©)
=

3
1



16.

@ 5

® 0



17.

2250 W9lolA A5 8 B 2L

D x*4+22-2=(x+D(x-1)(x+ V2i)(x - V2i)
¥-l=(x-1)(x*-x+1)

@ 2-2x-1=(x-1-V2)(x+1-V2)

@ x2+2x+3=(x+1-2i)(x+1+2i)

@ xt -4 = (x+2)(x-2)(x+ 2i)(x - 2i)



A, B Aol ojap7g 4]
R Qo] 49178 BEcE
o] F 29 & Fstolet.

B
2

ax’ +bx+c =02 g AE=1rE
5 9ol -3+ V2iE 222 A

1 —



19. oA AA ¥ tax+b =02 Zol1+2 & A5 ab &
-steizt.

E,":a:

Be:r=



B +2m-1)x-m+3 =09 F F& LT 5o] HA ste

A%+
% mel WIS Ashu?

1> ok

@D -2<m<3 @ 2<m<3

@ 1<m<3 ® 3<m<4

@ -1<m<3



